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&5 X 4 r:n‘c‘; —Fiﬁﬁﬁ(i)@ﬁ%ﬁ 73(:;3(:;5)3 X 4 Mﬁg’ég@fﬁfﬁ .z,n? jj(ﬁ?tr:f)é X 4 .(Er,na‘)r J:m;b(i)wtt.a. jj(ﬁ?tr:f)é X 4 J:m;ﬁ(;d)ttra, rzjn? %gﬁlfnié
1 100kN/mM%E#8x5 | 1.00 | 0.00 ~ 349 156.31 |3m%#Z5| 000 ~ 2.05| 3.90 20.89 | 100kN/m%#8z25 | 1.00 | 1066 ~ 8353| 156.31 |3mZE#Z 3| 3000 ~ 8353| 3.90 20.89
s 1.00 | 349 ~ 1128 100.00 | ZnLASt | 205 ~ 11.28| 3.00 16.05 Thlst 1.00 | 5.00 ~ 1066 100.00 | THLSt | 5.00 ~ 30.00| 3.00 16.05
2 100kN/mM%E#8x5 | 1.00 | 0.00 ~ 3.30 152.94 |3mZE#Z 5| 000 ~ 196 3.84 20.56 | 100kN/m%#8z25 | 1.00 | 1080 ~ 84.17| 152.94 |3mE#BZ 5| 30.00 ~ 84.17| 3.84 20.56
s 1.00 | 330 ~ 1109 100.00 | ZnLLASt | 1.96 ~ 11.09| 3.00 16.05 Thlst 1.00 | 5.00 ~ 10.80 100.00 | =St | 5.00 ~ 3000 | 3.00 16.05
3 100kN/mM%#8x25 | 1.00 | 0.00 ~ 253 139.77 |3m%#Z 5| 000 ~ 166 3.66 19.60 | 100kN/mi%#8z25 | 1.00 | 11.73 ~ 5067 | 139.77 |3mZE#BZ 5| 40.00 ~ 5067 | 3.66 19.60
s 1.00 | 263 ~ 1032 100.00 | ZnLASt | 1.66 ~ 1032 3.00 16.05 Thlst 1.00 | 5.00 ~ 11.73 100.00 | =4t | 5.00 ~ 40.00 | 3.00 16.05
4 100kN/m##8x5 | 1.00 | 0.00 ~ 2.71 142.66 [3mZz#EZBH| — ~ — — — | 100kN/mi%E#BZ5 | 1.00 | 11.31 ~ 3960 142.66 |3mZE#ZSD - ~ — — —
s 1.00 | 271 ~ 1049 100.00 | #nlist | 0.00 ~ 1049 2.91 156.57 Thlst 1.00 | 5.00 ~ 11.31 100.00 | =hList | 5.00 ~ 3960 2.91 15.57
5 100kN/m##8x5 | 1.00 | 0.00 ~ 2.71 142.80 [3mZz#EZBH| — ~ — — — | 100kN/mi%E#BZ5 | 1.00 | 11.11 ~ 3328 142.80 |3mZE#Z5 - ~ — — —
s 1.00 | 271 ~ 1050 100.00 | #nLst | 0.00 ~ 1050 2.94 156.73 Thlst 1.00 | 5.00 ~ 11.11 100.00 | =St | 5.00 ~ 3328 2.94 15.73
6 100kN/mM%E#8x5 | 1.00 | 0.00 ~ 2.00 130.94 |3mZE#BZB| — ~ — — — | 100kN/mMi%E#BZ5 | 1.00 | 1249 ~ 3506 130.94 |3mZE#ZSD - ~ — — —
s 1.00 | 200 ~ 9.79 100.00 | #nLst | 0.00 ~ 9.79 | 2.80 14.99 Thlst 1.00 | 5.00 ~ 1249 100.00 | =nLst | 5.00 ~ 35.06 | 2.80 14.99
” 100kN/m%#82% | 1.00 | 0.00 ~ 1.91 129.39 |3mZ&#BRB| — ~ — — — | 100kN/m%#Bz25 | 1.00 | 1269 ~ 3436| 129.39 |3mE#Bz5 - ~ — — —
Thilst 1.00 | 1.91 ~ 9.69 100.00 | =hrist [ 0.00 ~ 969 2.79 14.92 ZnLst 1.00 | 5,00 ~ 1269 100.00 | EnLS | 5,00 ~ 3436 2.79 14.92
P 100kN/m#%#8z5| 1.00 | 0.00 ~ 1.90 129.29 |3mZE#BZBH| — ~ — — — | 100kN/m%# %5 | 1.00 | 12.69 ~ 34.04 129.29 |3m%i#BZ5 - ~ — — —
Thilst 1.00 | 1.90 ~ 9.69 100.00 | =hist [ 0.00 ~ 969 2.79 14.92 ZnLst 1.00 | 5,00 ~ 1269 100.00 | EnLS | 5,00 ~ 34.04 | 2.79 14.92
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#BZ 5 ~ ImEBZD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBZD ~
Ths ~ zhLst ~ ZzhLst ~ Ths ~
100kN/mMZ#8Z % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBZD ~
Ths ~ st ~ st ~ Ths ~
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